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Success Criteria

Aim
• I can use estimation to check the answers to a calculation.

• I know what ‘estimation’ means.

• I can use rounding to help me estimate.
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Estimate the percentage of purple and green.

Excellent at Estimation

Purple 25%
Green 30%
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If orange is worth 120, how much do you think
purple and green are worth?

Excellent at Estimation

Purple 60
Green 20
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If orange is worth 25, what is the total of purple of green?

Excellent at Estimation

100
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If orange is worth 14, estimate what red and green are worth.

Excellent at Estimation

Red 28
Green 21
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Estimate the percentage of red and green.

Excellent at Estimation

Red 45%
Green 30%
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What does the term ‘estimation’ mean?

Training for the Olympics

Estimation means
a close guess of the actual 
value, usually with some 
thought or calculation 

involved.
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Can you think of any events where estimation can be used?

Training for the Olympics

Why do you think 
people estimate?
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Estimation can be used to check the total of amounts.

Training for the Olympics

I buy five
Olympic mugs that cost
£2.95 each. When I go to
the checkout, the cashier 
informs me that the total
is £18.70. Is the cashier 

correct?

I can use
estimation to check 

whether this is
correct.

Five lots of
£2.95 is roughly

five lots of £3 which is 
£15, therefore I have
been overcharged.
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Estimation can be used to ensure you have not made a
mistake when calculating answers.

Training for the Olympics

Time taken to throw five balls:
4 × 28.8 + 5.7 = 210.1

Is the calculation correct?

I can use
estimation to check 

whether this
is correct.

4 × 28.8 is roughly 4 × 29 which is 116. 
I then add 6 to the answer to get 122. 
Because the answer to the calculation 
above is not similar to the estimated 
answer, the accurate answer must be 

incorrect.

Therefore I
need to check my
initial calculation.

4 × 28.8 + 5.7 = 120.9
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Use estimation to help you select the correct track position.

Preliminaries

1

945 ÷ 45 =12 353 + 9496 =8.7 × 60 =
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Use your excellent estimation skills to complete these activities:

Tabletop Olympics
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Select a calculation that you have completed this lesson and explain to 
your partner how you have used estimation to check the answer. 

Awarding Ceremony

Your partner will then 
award you a ‘gold’, ‘silver’ 
or ‘bronze’ medal for your 

explanation.

Swap roles with your 
partner and repeat.
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